MATH g, ML FAL ) cHEST

Mathenwation 113, Fall 2001 — M. Chiist

Widtermy Examinacien f£2
Lpstructions.
I. Closed book exam ™o lovminla sheets or neotes are permithed cxoepl these on
che fellowing page. Calenlating deviees s s, allowed.
% Do all work on the sheads provided. There 13 one Tlank sheel.
1. Show work andfor reasoming to recelve credit.
4 Important: - ) )
Place your Bnak answers {but not your nasouing] in the boxey, where provided.
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IMease aote that no fmnnles relaled oo the sardous convergeree el oo wemericsl
series are prisvitled: von are expected to know Uese, You sre expecten beosmow what
L warions symbols mean, o particular, wast the nedalion Izk} auns, and whar “30
inn the bound far Ry signilics. ([t is okay to use che wsation {::I i youar salutions if

it corres up)




(1} Determine whether cach of the follewing series pomvimaes, or diverges, Justify
your remsoning. State which rests wuowe (Do oot list tescs which are ancoce lusiv.
enly thoze which ot ribwle to vour conelision.
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{2) Consider the infinil: series E:r!."e. Find the smaodlot & sacl that the partial
-

amm £y spproximates the sam of Lhe saries within L0™%, [Yau will receive pactial
credit fue Snding some A that works, even if it is not tine zmailesl.]




(Ba) Find the Maclanrin serien for anesinm]. Yo ey e The Fust Lhal L Gersvalive

of arcsinir] is {1 - 2%7U%

T
(3L} Suppeae we know that an infinise senes ¥ o (=27 romvarges. Bor whicl valins
. 1
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HEN

of rean we comimde thul % eple D" sl cocverge? Foo which = can we conclude

-l
that the lacter series drverges?
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{4) For which = does the Tay b soried fae th MTciisa fix] — sinfe), ar w72, converge
Lo sinfx]? {Erewart uses the expresdons "centered ot" . and “nbend™ as syicnonyans
for "at™ in this conbpsgllesmrm vonl Answel 110 el




{5 Tel i = vaoand @, — g farall e 2 L Shimer Lisat {eoy, ) converges, AT
Fud e lnin, Justily w0l Teascning, you 10y 15 any thenrerns from tle: 1o,






